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INSTRUCTIONS TO CANDIDATES

Y Do not open this booklet until you are told to do so.
v Follow all instructions carefully.

v Answer all questions.
J Shade your answers in the Optical Answer Sheet (OAS) provuded

¥ You are not allowed to use a calculator.
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Questions 1 to40'cany. 1 mark-each. Questionsd1.to 15.camy 2 marks each. .
For each question, four oplions are given. Oné' of them is the Samsc answer., -
Make your choigg (1,.2, 3 ori4). -Shédeithe oval (152, 3ord)opthe -
Optical Answer Sheet. ’ D

) (20 marks)
1 7 ones 9 fenths 4 thousandths written as a decimal is

(1) 7.094
(2) 7.504
(3)  70.094

“(4)  70.904

2 Which of the following is the smallest number that can be divided by 5
with no remainder?

(1) 3502
(2) 2053
(3) 3205
(4) 2350
3 The rectangle below has a length of 11 cm and a breadth of 8 cm.

What is the area of the shaded part?

8cm

(1) 88cm?
(2) 44 cm?
(3) 38cm?
4 22cm?



4 Express -155:minutes in hours-and migu;gs, L
(1) t1h35min
(2} 1h55min
(3) 2h35min
(4}  2h55min

5 The table below shows the chérges for bicycle rental.

BICYCLE FOR RENTAL

For the first hour $4.00

o 1 :
For every additional > hour $1.50

Joshua rented a bicycle from 9.30 a.m. to 12 noon.
How much did he pay?

{1 $5.50
2 $7.00
() $8.50
4)  $10.00

2
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§  The diagram below shéws a papayd-on a weighing scale.
‘What is the mass of the papaya?

(1) 2kg?200g
(2) 1kg800g
(3) 1kg80g
(4) 1kg8g

7 In the figure shown below, ACD and BCF are straight lines, CDEF is a
parallelogram and ZCFE = 105°. Find ZBCA.

B
A & D
e\
F E
(1) 15°
@ 25°
(3 75°
(4) 85°



'8 . _Which.of the following.is not a.net of a cube? |

(1)

(2)

3)

“
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9

10

The ﬁ_gufe b@?;_ldw shows threg objects-on-a balance.

Object A has a mass of 540 g. .
What is the average mass of the three objects?

(1) 180g

(2) 270g

(3) 360 g

(4) 810¢g

f%HI,’HH{HHlH%%{
h

0.8 0.9 1.0 1.1 1.2
X .

What is the value of X?

(1) 1.8

2 116

@ 114

@)  1.13
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11 The figure below is made up of 4 squares A, B,-C and D.
: What fraction. of the figure is unghaded?

1
M 3
2
(2 3
7
(3) 3
5
4) 5

12 Corine had 40 bracelets. She gave 12 bracelets to Judy and w
bracelets to each of her 2 friends. How many bracelets had she left?

(1) 28-2w
(2) . 28+2w
3 28-w
4 28+w

6
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13 The figure below is made up of 3 different squares, A, B and C._
What is the perimeter of the figure?

A : : C
4 cm
10 cm 8 cm
(1) 62cm
(2) 72 cm
(3) 80 cm
{4) 88 cm

14 In the figure below, a square lies within a circle. )
Given that the square has an area of 98 cm?, find the total area of the

shaded parts. (Take == g_}z_)

(1)  245cm?
(2) 385cm?
(3) 49.0 cm?
(4) 56.0 cm?

CLIIY 08 3 bl Benfine 44 Doanar 1 Danblat &
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15 Inthe hall, 3 of the students are girls. 3 of the girls wear spectacles.

There are 24 girls who wear spec?ac;{es,- How many students are there

inthe hall?
(h 96

(2) 64

(3) 48

(4) 36

.8
SHHK P8 Math Prefim 2014 Paper 1 Booklet A
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- Questions 16 to 25 camy 1 mark each. Write your answers in the spaces | Do notwrite in
provided. For questions which require units, give your answers in the units | 4is space
stated. ; (10 marks)

16 Find the valug of 5 = 8. Express your answer as a decimal.

Ans:

17  ABCDis arhombus and #BDC = 35°. BD is a straight line.
Find ZBAD.

Ans:

LTI M B M Bl ARA A Pl 4 Dbl [a]



18

The figure below shows.a parallelogram.
AC is a straight line. Find £ x.

A.

Ans: °

18 Ali has k stamps and Devi has 4k stamps. James has 16 stamps less
than Devi. How many stamps do they have altogether?
Ans:
20

Find the value of 7+10p+4 - 2pwhenp=2.

Do not write in
this space
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21. - There were 40 oranges-and 120 apples in a basket.. _. ] . | Do notwiite in
What percentage of the fruits in the basket were oranges? this space

Ans: %

22 There were 5 times as many red beans as green beans and 3 times as
many yellow beans as red beans in a jar. What was the ratio of the
number of green beans to the total number of beans in the jar?

Arnis:

23 The solid shown below is made up of some identical 2-cm cubes.
What is its volume?

—— - ‘,

" QUL DA Math Bralim 20114 Panar 1. Banklat B



24 Awire is usedto-form three equilateral tiangies as shown in the figure
below. The length of AB is 11 cmi. What is the lotal length of wire

- used?

A

4

11 cm

. cm

Ans:
25  Anoven takes 10 minutes to bake 8 cupcakes at a time.
How long does it take to bake 24 cupcakes?
Ans: min

Do not write in
this space
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Questions 26 to 30 camry 2 marks each. Show your working clearly in the

spapg p[d_\'(_id'ed foreach question and write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. {10 marks)

26  The pie chart below shows how James spends his time in a day.

~ Sleeping computer

games

Reading

He spends half his day sleeping and playing computer games. He
spends 3 hours watching television. What percentage of the day
does he spend on reading?

%

Do not wiite in
this space
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27 The table below shows the number of students taking part in different
garmes for a school event. Each student was alflowed to take part in

only one game.

Games No. ofboys | No. of girls
- Badminton 1 2 ' 16
Table tennis 18 10
Basketball 20 4
Which game did 35% of the girls play?
Ans:

28 Draw three more unit shapes to extend the tessellation.

. .
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. -
- »
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Do not write in
this space




29
(8 ‘Buffet Dinner Promotion
$30 perperson
For every 3 pefsons who pay, the
4" person dines for freel )
A group of people went for the buffet dinner. The bill for the dinner was
$300. How many people were there in the group?
Ans:

30 The ratio of the number of Leon's marbles to the number of Jay's

marbles was 3 : 5. In a game with their friends, Leon won 15 marbles
while Jay lost 3 marbles. They both then had the same number of
marbles. How many marbles did both boys have altogether before the
game?

Ans:

Do not write in
this space

END OF PAPER 1
7



B ARAL BT IR DA G—H K
B o FF o £48 « BF « £%
SINGAPORE HOKKIEN HUAY KUAN

5-SCHOOL COMB!NED PRIMARY 6 PRELIMINARY EXAMINATIONS
TAO NAN o Al TONG » CHONGFU « NAN CHIAU e KONG HWA

| 2014
# % MATHEMATICS

PAPER 2

Date : 22 August 2014
Total Time for Paper 2: 1 h 40 min

INSTRUCTIONS TO CANDIDATES

Do not open this booklet until you are told to do so.

¥ Follow all instructions carefully.

4 Answer all questions.

v Show your working clearly as marks are awarded for correct answers
¥ You are allowed to use a calculator.

This booklet consists of 15 printed pages.

Booklet A
School : Booklet B
Name : A Paper 2
Class : fotal Marks







2 Lili and Mimi have 480 beads altogether. Lili has 72 more .beads

than Mimii. How many beads dees Mimi have? Do not wirite

in this space

Ans:

3 ' The diagram below shows part of a parallelogram, ABCD. AD and DC
are two sides of the parallelogram. Complete the diagram by drawing
the other two sides of the parallelogram ABCD. Label your diagra
clearly. .

SHHK Prefims 2014_P6 MA_Paper 2



4  Tom has a plank of wood that is %m bong.

He wants to cut it into pieces of %m-each.
What is the minimum number of cuts he needs to make?

Ans:

5 The figure below shows the net of a cuboid.
. Find the volume of the cuboid.

A

52 cm

37 cm 28 cm

SHHK Prefims 2014_P6 MA_Paper 2
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For questions 6 to 18, show your woﬂdn'gﬁ_cieéﬂy.in the space below each

Do not wiite
in this space

question and write your answers.in the spaces provided.

The number of marks availabie is shown in-the brackets [ ] at the end of

each question or pari-question. (50 marks)

6 1 bottle of shampoo and 1 bottle of bath foam cost $31 altogether.
Germaine bought 3 bottles of shampoo and 5 bottles of bath foam for
$119.40. How much did one bottie of bath foam cost?

Ans: __ 13l

7 In a canteen, tables can be arranged in exactly 11 tables per

row. If the same number of tables is arranged in rows of 8 tables: each,
there will be 6 more rows and 3 tables ieft over. How many tables are
there? :

Ans: {3]

SHHK Prefims 2014_PS MA_Paper2






S The ratio of the number of chocolate muffins to strawberry muffins i IS 1 b6 not wiite
4 : 5. The ratio of the number of vanilla muffins to-the total number of in this space
chocolate and strawberry muifins is 5 : 6. What fraction of the muffins
are strawberry muffins?

Ans: 3]

SHHK Prelims 2014_PS MA_Paper 2



10 ln the figure below, ABCD is a square. AEF aﬁd CEF are isosceles
tnangles and ZBAE = 25° Find ZAFE.

A

45°
\

B

Ans:

3

. SHHK Prefims 2014_P6.MA_Paper 2
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11 At 1030 a.m., Alvin left Town A for Town B, driving at a speed of
75km/h." At 11 30 a.m.; Tim also left Town A for Town B driving at a
certain speed. Both of them did not change théir speed throughout the
journey. At2.30-p.m., both of them passed a shopping mall that was
150 km away from Town B. How many mmutes earlier did Tim reach
Town B than Alvin?

1 Do not write
in this space

Ans : 41 |
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13 The figure below i is made upofa nght-angled triangle WXY and two Do hot write
semicircles with. XY and WX as their diameters respectively. The two | ;- i space
semicircles and the line WY meet at Z as showh. WX = 12 cm,

T UXY=16 cmand WY =20 cm. (Take == 3.14)
. (a) Find the perimeter of the shaded region.
(b} Find the area of the shaded region. -

Ans: (a) [2]

(b) - 3]

SHHK Preims 2014_P6 MA_Paper2 19
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Q30

Feb and March
480-721 2= 204

Qt Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10
2 4 2 3 3 2 3 4 3 2
Q11 Q12 Qi3 Q114 Q15 '
4 1 2 4 1
BOOKLET B
Q16 0.625
Q17 110
Q18 50
Q19 (8K-16)
Q20 27
Q21 25
Q22 1: 21
Q23 80
Q24 33
Q25 30
Q26 12.5
Q27 Basketball
Q28
Q29 13
72




PAPER 2

Q1

Q2

Q3

Q4 8/12

: 8-1=7
Ans: 7

Q5 52-28/2= 12cm
12x28x37=12432cm?
Ans: 12432cm?

Q6 $31x3=$93
$119.40-$93=$26.40
$26:40:2=$13.20
Ans:$13.20

Q7 11-8=3
8x6=48
48+3:3=17
17x11=187
Ans:187

Q8 79x3=237
30-69=11
237-80-69=88
Ans:88

QS C:S V:C+S

4:5 5:6
X6 X6 X9 X9
24:30 45:54
30/99= 10/33
Ans: 10/33

Q10 180°-25°-90°=65°
180°-90°/2=45"
180°-65°-45°=70"
Ans: 70°

Q11 Alvin-> 4.30pm
6hn(75km=450km
450km-150km=300km
300km=3hr=100km/h
150km=+100km/h=1hour30min
2hour-Thour30min=30min



Q12

Qi3

Q14

Q15

Q16

Q17

Ans: 30min

" 150cmx110cm=16500cm?
13emix110cmx2=2860cmz

13cmx150cm=1950cm?

13cmx 13cmx2=338cm?
(2860+1950cm3-338cm= 4472¢m?
16500cm2-4472em?=12028cm?
Ans: 12028cm* -
%x3.14x12cm=18.84cm

%x3.14x16cm=25,12cm

T->43.96cm
43.96cm+20cm=63.96cm
¥“x16cmx12em=96cm>
7X3.14x6cmx6cm=56_52cm?
%x3.14x8cmx8cm=100.48cm?
100.48+56.52=157cm?
157-96=61cm?
Ans:(a) 63.96cm

(b} 61cm?
15-1=14
14x3=42
424-8=50
(176-8)+3=56
56+1=57
Ans:(a) 50

(b) 57
180°-106°=74°
180°-106°-44°=30°
180°-30°=150"
150°+74°=224-
Ans: 224-
B:A
3.1¢ 2.6¢ .
3.1x5=15.5¢
66.8-15.5=51.3¢
51.3:92.6+3:1)=9min
Imin+5min=14min
14x3.12=43 .4¢
Ans: 43.4¢
4x4=16 .
16+14=30
T10u->30sp
X3 x3
30u->90sp



Q18

3u->6bp
x10 x10

-30u>60bp
- 60bpx6=360 -

360:30=1 2
12+6=18
Ans: (a) 1/14
(b) 18
B:R T
Jane—> 210:390 600
Before Dinah-> 180:220 400
B-2>210+1 80=390(25%+50%) A
R—)390+220=610(75%+50%) -
610-390=220 ) )
50%J->220
' 25%J->110
390-110=280
B:R T
Jane—> 110:330 440
After  Dinah— 200:280 480
210-110=100
Ans:(a) 440 .
(b) 100
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